
PC-000490 T.P. Dispenser
PC-000760 Rod
PC-000205M Lock
(4) PC-000100 Rivet 
(4) PC-000106 Washer 

(2) FS1-0002* Side Panel 
(10) PC-000192 Sems Screw

FS1-0062 Left Rear Extrusion
(9) PC-000104 Rivet 

FS1-0061 Top Rear Extrusion
(5) PC-000104 Rivet 

(3) SG1-0037 Inner Screen
(3) SG1-0038 Outer Screen
(6) PC-000102 Rivet 
(6) PC-000106 Washer 

FS1-0063 Right Rear Extrusion
(9) PC-000104 Rivet 

FS1-0007* Roof Panel
(4) PC-000100 Rivet 
(4) PC-000106 Washer 
(4) PC-000121 Washer 

FS3-0021* Waste Tank
(4) PC-000103 Rivet 
(4) PC-000106 Washer 

FS3-0018C Base Complete
FS3-0018 Handle/Runner Base
FS3-0019 Handle Signature Style Base (Optional)
FS3-0085 Static Floor Panel
(8) PC-000117 Rivet 

(2) SG1-0035 Large Screen
(2) PC-000102 Rivet 
(2) PC-000106 Washer 

PC-000204 Toilet Seat

PJN3-0009* Urinal
(2) PC-000101 Rivet 
(2) PC-000106 Washer

SG1-0080G Vent Stack
(1) PC-000117 Rivet 

FS3-0003* Front Assembly
(17) PC-000104 Rivet 
(4) PC-000159 1/4-20 x 3-1/2” Bolt 
(4) PC-000123 Washer 
(4) PC-000140 Nylock Nut 
-FS3-0060 Door Jamb
-PC-100787 Serial I.D. Plate
-(2) PC-000108 Rivet
-FS1-0005*C Complete Door
--FS1-0005* Fleet Door
--(3) PC-100170 Hinge Assembly 
--(6) PC-000116 Rivet 
--(3) PC-000160 5/16” x 3/4” Bolt 
--(3) PC-000161 5/16” Flat Washer 
--(3) SG1-0037 Inner Screen
--(3) SG1-0038 Outer Screen
--(6) PC-000104 Rivet 
--(6) PC-000106 Washer 

TM01-0003 Mirror
PC-000367 Push-In Fastener

SG1-0032 Retain Plate

FS1-0034* Door Panel Cover
(4) PC-000158 Screw 
(2) PC-000147 Screw

SG1-0030 Slide Latch

PC-000181S Spring Clip
(2) PC-000104 Rivet 

SG1-0031C Slide Latch Cover Plate
SG1-0031 Slide Cover Plate
SA1-0017 Handle U Bolt
(2) PC-100134 Handle Screws
(2) PC-100796 Grommet 

FS1-0004* Rear Panel
(4) PC-000192 Sems Screw 

PC-000223 Hover Handle
(2) PC-000104 Rivet 

PC-000800 Spring Assembly

* Must Specify Color

FS3-1000
Static Tank
Exploded View

http://www.polyjohn.com/pc-000117/
http://www.polyjohn.com/pc-000204/
http://www.polyjohn.com/pc-000101/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/tm01-0003/
http://www.polyjohn.com/pc-000367/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/pc-000159/
http://www.polyjohn.com/washer-1/4-x-5/8-ss/
http://www.polyjohn.com/nut-nylon-lock-stainless-steel-1/4-20/
http://www.polyjohn.com/fs3-0060/
http://www.polyjohn.com/pc-100787/
http://www.polyjohn.com/rivet-602-small-flange/
http://www.polyjohn.com/pc-100170/
http://www.polyjohn.com/pc-000116/
http://www.polyjohn.com/pc-000160/
http://www.polyjohn.com/washer-5/16-3/4-flat/
http://www.polyjohn.com/sg1-0038/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/door-panel-cover-fleet-pewter/
http://www.polyjohn.com/screw-self-tap-10x1-5-oval-hd/
http://www.polyjohn.com/pc-000147/
http://www.polyjohn.com/slide-plate-unisex/
http://www.polyjohn.com/complete-spring-tube-assembly/
http://www.polyjohn.com/sg1-0030/
http://www.polyjohn.com/slide-latch-cover-plate/
http://www.polyjohn.com/sg1-0031-/
http://www.polyjohn.com/latch-u-bolt-for-handle/
http://www.polyjohn.com/pc-100134/
http://www.polyjohn.com/pc-100796/
http://www.polyjohn.com/pc-000181s/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/pc-000223/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/fs3-0018c/
http://www.polyjohn.com/fs3-0018c/
http://www.polyjohn.com/fs3-0019/
http://www.polyjohn.com/fs3-0085/
http://www.polyjohn.com/pc-000117/
http://www.polyjohn.com/fs3-0021g/
http://www.polyjohn.com/pc-000103/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/side-fleet-series-red/
http://www.polyjohn.com/pc-000192/
http://www.polyjohn.com/pc-000490/
http://www.polyjohn.com/pc-000760/
http://www.polyjohn.com/pc-000205m/
http://www.polyjohn.com/pc-000100/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/sg1-0035/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/fs1-0063/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/sg1-0038/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/fs1-0061/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/fs1-0004p/
http://www.polyjohn.com/pc-000192/
http://www.polyjohn.com/washer-fender-1/4-x-1-1/4-/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000100/
http://www.polyjohn.com/pc-000104/



